107}

1072

10
1.2

1.1

Ratio
=

0.9
08

=

08 -6 4-20 2 4 6 8 10

[ pull of goverp parameter |

1072

107

10

NN
o 1.2 M M M
g F o P4 P
I s SRt SRRl Sl ST R LT SELE LI LR

Y SO S S

R S

-10 -8 -6 -4

-2 0

2 4 6 8 10

[pull of

@ parameter

107}

1072

1073

10

TET gy
g 56
-
Nires
A -0 1?%&_
gt )
éﬂsgt%i\r/wt 0 olgggf;
| wean =
Igma 1 B

res

ev
onstant 0 019
ear =
1gma

(@] J..L-I
o o
g ) i

[ pull of dxy parameter

107}

1072

10™

1.2

1.

Ratio

0.9

iy
T

=

0.8

L
O R B B N - BT

PLE
pull of B parameter |

107}

1072

1073

Ratio

R

-

-10 -8 -6 -4

30 2 4 6 8 10

[ pull of dz parameter

107}

1072

Ratio
=

-10-8 =6 -4

U D DU S
-2 0 2 4 6 8 10



	Contents
	Page 1


